5.3 Finding Inverse Z-transform by Convolution
theorem
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Find inverse Z-transform of > by using convolution theorem.
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By using convolution theorem, show that the inverse Z-transform of ———  is
(z+a)(z+b)
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ZF(2)-G(29)|=Z7[F(2) |*Z7[G(2)]
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Find Z™* {ﬁ} using convolution theorem.
z—-a)(z-
Solution:
2
Given 21| —2 | =2
(z—a)(z-b)

By convolution theorem
ZHF(2)-G(29)|=Z7[F(2) |*Z7[G(2)]
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Using convolution theorem, findZ | ——
(2z-1)(4z+1)
Solution:
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Given 21| — S92 ___|_»
(2z-1)(4z+1))
By convolution theorem
ZHF(2)-G(29)|=Z[F(2) |*Z7[G(2)]
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Using convolution theorem find Z™ S —
(z-D(z-3)




Solution:

Given Z™ {—Zz } =2
(z-D(z-3)

By convolution theorem
ZF(2)-G(2)|=Z7[F(2) |*Z7[G(2)]
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